1A EZ+(2019.8.21)

7H T

—

(=]
==
=

[SHAPED}H] 8

i)
1]
30

)

BJ
M0

JJ
KJ

S 0ISAM

LHO

J
80 wr

— (.



va

m



11
V. 20| 2tr




20193 8&F 21

Vo570 AERRLE

A7t ZERE T

=
—

=
-

Of 0 ECLt

v O



=M X742t

IJ_IE

.\/

ofA| Ofet

il
)

T

=

Af

Vo 2 A2t

V MAMLYR| Ot}






“EX|Lt 2o, oMot g AL 5
SHE Mryelof 2| n QIct”

o

Oo|™ X s = HE22H™o|1a

Ao X[, 8= =5
SXrEel EH /7 “EMLix] Zat”



JEil =, 2T O|C}

—p—
-

Vv

v 0] AFRH






10



20194 == K=




o

[£, ASF 2
BT,

CR k=

Of 2|
G O A|R, 17
NP2

=



[=, W2 CHX| 7]






£l

L3
-

F

to|2tm &

FL
[

nO



/81" FU, A5 Ud

XFAF 35%, 7191 AEX| 13%

- H £BY 12% YT =57

-

-/

= 10%, 7I=Ats 7%

L A H|A 7% &3 4%

I 12%

16




[t ®MA s E4]

Erfet 9=

22t AZXHA|



e

I KIBist O

- K

| / a AN

| 2l /

“ WH \
= |

LB |

R \
v\\ \ |__Al._ %\

\ / — ;“ m_u % N\

/ N_u ) T /
B0 — |
o W |

- ﬂ__ \

/ ._Mﬁ )
N | S



19



20



21



22



23



24



25



26



27



28



29



30



31



32



33



34



35



36



37



[SixHe] EH5 2]

v HY B = HHY BF

Vo5 MA 2EY 5 /A et AR

vV CH|SHab "EeE /Sl 2 0|



39



40



AR S8 2B JHseioF HIsey AlX:
% . <challenge inspection> 7ts O &

‘SS} AIEY mOts|Of Beist 2= TS






LIE 3L o o 1
s B+ A 32
'\/ x—'.”---I'Ix—'.I EH7E:I (hostile relations)

v MO BE

O L (antagonistic coexistence)
.\/ HI I—-|I EH I—-|I O L (non-antagonistic coexistence)

v H| ™™ &2

=1 B4 =1 (non-antagonistic cooperation)

43



CH /

=
=
ST 73 EMX| BE
|

v NGO, X|X}A|

Vv
Vv



S50 BA

45



46



47






[A= Sl FHA|]

vV gtO|2HAHe| 7HH S

ts8

A'el o=

I

M

I
10

b



50



<
< <
<

0E
=
I
R
10
rA
02



[~ M EA]

SO 89| dloh MM mjf#H 47
H| X3 2| H(illiberal) = M EA B4
CHe| S48 HHEFA + M= Fed

U DIEZFON Mt + 2

1o
rx

o
T



r

OFAF
o o

vV A & (rule of game), B3}

Z= (Asia Paradox)

Ho

53



54



[Lt2rS

3 M B2

]

* (LIBHE SHM 22

_— O

. '22|'0| oh

[tk

- O{m| Wt

=

ke

LU=
PA

7t/

- Qo= O{EH| WS 3

* <

FA0| Eeby

t>

2 L)

23217}

| -

= ZMEM (22 EH)

2}

55




[1919, 2019, 2119]

v 1008 ™ S50 BN
vV X — 1008 2 ZAM o=

v <37pX| 3HH|>: £Y, BIFE, £



57



& St
S S

= St
1

OF& All,

Ew
sy O T

NS

. 2

Tl

n)0
ol

58



